SH7EE AIKEREFKERE-E

REER HEs HiEfE REHE
BE# - A4 AR BRERY S G- HHI(AER) EHE- 5 H)I(B5ER) JLAIRE- HE)I(BEER)
®KAR 68138 8A5H 68138 8A5H 68138 8A5H
PN Y Y Y £Y £Y £Y
ERKEEZI 13:51 12:00 13:23 11:23 12:46 10:27
KUE(°C) 22.7 33.3 245 33.3 245 333
JKIR (°C) 234 28.4 26.8 30.5 24.1 294
as ) mEEH | AEE mEEH | AEE HEE HEE
RR ER |R ER 8 B/R B/R
BRE () S50ELLE | 50EULE 50 L | 50ELLE 50FELLE | S0EELLE
—fiRIER
KIRAFVRE 6.5LL L85 7.7 7.7 76 78 75 75
EMLFHBERERE (mg/1) 28T 3UTF 0.7 0.6 0.9 1.1 0.9 0.9
FiEYEE (ng/1) 25LLTF 1 4 1 1 6 9
JVRIA YU E (mg/1) — 0.55K 7 0.55K 0.5k 0.5k 0.5k 0.55% i
Zx/—)L (mg/1) — 0.0055Ki# | 0.0055K 0.0055% 3 | 0.005KH 0.0055% 3 | 0.005KH
L2H (mg/1) — 0.34 0.35 0.37 0.27 0.39 0.32
21> (mg/1) — 0018 0.036 0018 0.025 0.037 0.044
BEER (ng/1) 75k 5Lk 9.2 8.3 9.6 9.4 95 9.0
KIBE S (CFU/100ml) 300LLF | 1,000 32 410 22 43 20 87
RERIER
HREY L (me/1) 0.003LLF 0.00035K i | 0.0003K i 0.00035Ki | 0.00035K i 0.00035Ki | 0.00035K i
ST ) O Tt Tt TRt TRt T T
0.15K3% 0.15R3% 015K 015K 01K 0.1K i
£ (mg/1) 001LLTF 0.001Ki# | 0.001KiH 0.001 0.0015KR3#% 0.001R3& | 0.001KiE
FNAf S 8L (mg/1) 002LLTF 0.0025Ki# | 0.002:K i 000253 | 0.002:K 0.0025R3#& | 0.002:KE
e (mg/1) 001LLTF 0.002 0.003 0.002 0.004 0.002 0.003
#IKER (mg/1) 0.0005LF 0.00055K i | 0.00055K i 0.00055Ki | 0.00055K i 0.00055Ki | 0.00055K i
T ILFILIKER (mg/1) BREShANZE T - R - T -
0.00055 0.00055 i 0.00055K %
PCB (mg/1) BREShANCE T - T - T -
0.00055 i 0.00055 i 0.00055K %
A2 (mg/1) — 0.13R3% 015K 0.1k 0.1k 0.1k 0.1

1/3R=



BREER Hig HAE(E BRERIE
REM S A AFREY BEE R jgf‘gij)” INERIRHE-/NTE)I (BEERY) (| 781145 - 7811 (BEEEY) BEiRf-®M- 53E)II(BEE) 5iAE- ikl (BER)
®KAR 68138 || 6A138 68138 68138 8A5H 68138 8A5H
ES £Y £Y £Y £Y Bh £Y Bh
ERKEEZI 12:24 09:03 09:44 11:50 09:35 10:16 09:08
KUE(°C) 248 20.2 21.8 235 333 236 333
JKIR (°C) 22.8 18.8 23.1 23.6 324 22.0 295
as ) HEE HEE HER mEEH | AEE HEE HEE
RR et} mR ER mR JIER TR )
BIRE (B) S0EELLE || 50EELIE 50 LAk 50FELLE | S0EELLE 37 50 L
—fiRIER
KIRAFVRE 6.5LL L85 74 7.9 7.9 78 8.0 75 74
EMILFHBERERE (mg/1) 2UTF 3UTF 14 0.55K 20 1.0 15 1.7 1.4
FiEYEE (ng/1) 25LLTF 6 1 5 1R 2 9 3
JLRIAFY U H M (mg/1) — 0.55K 05K 055K 055K 055K 055K 0.5k
Zx/—)L (mg/1) — 0.0055K i || 0.0055K ik 0.0055K 5k 0.0055% 3 | 0.005KH 0.0055%3& | 0.005K
L£2FH (mg/1) — 0.58 0.76 0.62 0.38 0.38 0.69 0.64
21> (mg/1) — 0.062 0.10 0.093 0011 0.021 0.081 0.073
AR (ng/1) 75k 5Lk 8.8 9.9 10 10 9.9 78 7.0
KIBEH(CFU/100ml) 300LLF | 1,000 25 310 27 IS 1 22 40
RERIER
AR L (me/1) 0.003LLF 0.00035K i || 0.0003K i 0.00035K % 0.00035Ki | 0.00035K i 0.00035Ki | 0.00035K i
ST e O Tt Tt TRt TRt TRt T T
0.15K3% 0.15R3% 015K 015K 015K 0.1 0.1K i
£ (mg/1) 001LLTF 0.0015Ri# || 0.001KiH 0.0015KR 3% 0.001R3& | 0.001KiE 0.001 0.0013K
FNAf S 8L (mg/1) 002LLTF 0.0025Ki# || 0.002:K i 0.0025K 5% 00023 | 0.002:K 0.002:5R3& | 0.002:KE
e (mg/1) 001U 0.001 0.001 0.002 0.0015K# | 0.0015K# 0.001 0.001
#IKER (mg/1) 000054 F 0.00055K i || 0.0005K i 0.00055K 5% 0.00055K i | 0.00055K i 0.00055Ki | 0.00055K i
T IV ILIKER (me/1) BRftEhinlE R R R R R T T
0.00055K i || 0.0005K i 0.00055K % 0.00055Ki# | 0.00055K i 0.00055K# | 0.00055K i
poB (ne/1) ORI T T T T T Tt Tt
0.00055K i || 0.0005K i 0.00055K % 0.00055Ki | 0.00055K i 0.00055Ki | 0.00055K i
A2 (mg/1) — 0.13R3% 015K 0.1k 0.1k 0.1k 0.1k 0.1

2/3R=2




BREER Hig HAE(E BREHE
BERA A AR | BRI L (e, | e | o || BRI € HE A (AR
#KkAR 4878 68138
PN £2Y 21
ERKEEZI 11:00 14:24
KUE(°C) 16.9 236
JKIR (°C) 11.0 249
as ) mEEH | BREEH
RR ER ER
BIRE () 50 E | 50EE
—fiRIER
KIRAFVRE 6550 E8SLLT 76 7.7
EMILFHBERERE (mg/1) 2UTF 3UTF 0.5k 0.55% i
FiEYEE (ng/1) 25LLTF 1R 1R
JVRIA YU E (mg/1) — 0.55% i 0.55% i
Zx/—)LEE(mg/1) — 0.0055% 3 | 0.005KH
L£2FH (mg/1) — 0.28 0.40
£ (mg/1) — 0010 0.012
BEEBRRE (ng/1) 756 5k 1 95
KIBEH(CFU/100ml) 300LLF | 1,000 5 40
REEE
HRSY L (mg/1) 0.003F 0.00035K;# | 0.0003K
237 (mg/1) BREShANCE T R
0.15K 015K
A (mg/1) 001LTF 0.0015R5# | 0.0015K#H
FNAf S 8L (mg/1) 002LLTF 00023 | 0.002:K
% (mg/1) 001LTF 0.001 0.002
#7K 4R (mg/1) 0.0005LLF 0.00055K# | 0.00055K 5%
T ILFILIKER (mg/1) BREShANZE e e
0.00055Ki# | 0.00055K i
PCB (mg/1) BREShANZE T R
0.00055Ki | 0.00055K i
i (me/1) — 015K 015K
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